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Kreis und Kreisteile - Formeln 
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Kreis 
Umfang: u = d · π  oder 2 · r · π 
Radius: r = u

2 ·π
 oder r = √𝐴 ∶  π  

Durchmesser: d = 
u

π
 

Fläche: A = r² · π oder A = 
d

2
 ·  

d

2
 · π 

 

Kreisring 
Fläche: A = ra² · π – ri² · π 

Innenradius:  ri = √ra2 − 𝐴 ∶  π   

Außenradius: ra = √𝐴 ∶  π +  ri²  

 

Kreisausschnitt 
Fläche: A = 

∝

360
 · r² · π  

Kreisbogen: b = 
∝

360
 · 2 · r · π 

Mittelpunkts Winkel: ∝ = 
b · 360

2 · r · π 
  oder ∝ = 

A · 360

r² · π 
 

Radius: r = √𝐴 · 360 ∶ ∝ · π  oder 
r = 

𝑏 · 360

2·  ∝ · π 
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